
 
Find a closed form: 

∫
𝒙𝟐 + 𝐬𝐢𝐧⁡(𝝅𝒙)

𝟏 + 𝐞𝐱𝐩⁡(𝝅𝒙)
𝒅𝒙

∞

𝟎

 

 
Proposed by Shirvan Tahirov-Azerbaijan 

Solution 1 by Amin Hajiyev-Azerbaijan 

∫
𝒙𝟐 + 𝐬𝐢𝐧⁡(𝝅𝒙)

𝟏 + 𝒆𝝅𝒙
𝒅𝒙 = ∫

𝒙𝟐

𝟏 + 𝒆𝝅𝒙
𝒅𝒙 +∫

𝐬𝐢𝐧⁡(𝝅𝒙)

𝟏 + 𝒆𝝅𝒙
𝒅𝒙 = Ω𝟏 + Ω𝟐

∞

𝟎

∞

𝟎

∞

𝟎

 

Ω𝟏 = ∫
𝒙𝟐

𝟏 + 𝒆𝝅𝒙
𝒅𝒙⁡⁡ {⁡𝒆𝝅𝒙 =

𝟏

𝒕
⁡𝝅𝒙 = − 𝐥𝐧(𝒕) ⁡𝒅𝒙 = −

𝟏

𝝅𝒕
⁡⁡}

∞

𝟎

 

Ω𝟏 = −
𝟏

𝝅𝟑
∫
𝒍𝒏𝟐(𝒕)

𝟏 +
𝟏

𝒕

𝒅𝒕

𝒕

𝟏

𝟎

= −
𝟏

𝝅𝟑
∫
𝒍𝒏𝟐(𝒕)

𝟏 + 𝒕
𝒅𝒕 = −

𝟏

𝝅𝟑
∑(−𝟏)𝒏∫ 𝒕𝒏𝒍𝒏𝟐(𝒕)𝒅𝒕

𝟏

𝟎

∞

𝒏=𝟎

𝟏

𝟎

 

=⏞
𝑰𝑩𝑷

−
𝟐

𝝅𝟑
∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟑
=
𝟑𝜻(𝟑)

𝟐𝝅𝟑

∞

𝒏=𝟎

 

Ω𝟐 = ∫
𝐬𝐢𝐧⁡(𝝅𝒙)

𝟏 + 𝒆𝝅𝒙
𝒅𝒙 =⏞

{⁡𝝅𝒙=𝒕⁡}∞

𝟎

𝟏

𝝅
∫

𝐬𝐢𝐧⁡(𝒕)

𝟏 + 𝒆𝒕
𝒅𝒕 =

𝟏

𝝅
𝑰⁡; ⁡𝒏𝒐𝒕𝒆⁡{𝐬𝐢𝐧𝐡(𝒊𝒕) = 𝒊𝒔𝒊𝒏(𝒕)}⁡

∞

𝟎

 

𝑰(𝒂) = ∫
𝐬𝐢𝐧𝐡⁡(𝒂𝒕)

𝟏 + 𝒆𝒕
𝒅𝒕 =⏞

𝒆𝒕→⁡𝒕∞

𝟎

𝟏

𝟐
∫

𝒕𝒂

𝒕(𝒕 + 𝟏)
𝒅𝒕

∞

𝟏⏟          

𝒕→⁡
𝟏

𝒕

−
𝟏

𝟐
∫

𝒕−𝒂

𝒕(𝒕 + 𝟏)
𝒅𝒕 =

∞

𝟏

 

𝟏

𝟐
∫

𝒕−𝒂

𝟏 + 𝒕
𝒅𝒕 −

𝟏

𝟐
∫ 𝒕−𝒂 (

𝟏

𝒕
−

𝟏

𝟏 + 𝒕
)𝒅𝒕 =

𝟏

𝟐
( ∫

𝒕−𝒂

𝟏 + 𝒕
𝒅𝒕

∞

𝟎⏟        
{𝝅 𝐜𝐬𝐜(𝝅𝒂)⁡𝕽{𝒂}<𝟏}

−∫ 𝒕−𝒂−𝟏𝒅𝒕
∞

𝟏

) =
∞

𝟏

𝟏

𝟎

 

𝟏

𝟐
(𝝅𝐜𝐬𝐜(𝝅𝒂) −

𝟏

𝒂
) ; 𝑰(𝒊) =

𝟏

𝟐
(𝝅𝐜𝐬𝐜(𝝅𝒊) −

𝟏

𝒊
) =

𝒊

𝟐
(𝟏 − 𝝅 𝐜𝐬𝐜𝐡(𝝅)) 

Ω𝟐 =
𝟏

𝝅
(∫

𝐬𝐢𝐧(𝒕)

𝟏 + 𝒆𝒕
𝒅𝒕) = −

𝒊

𝝅

∞

𝟎

(∫
𝐬𝐢𝐧𝐡(𝒊𝒕)

𝟏 + 𝒆𝒕
𝒅𝒕⁡) =

𝟏

𝟐𝝅
(𝟏 −

∞

𝒐

𝝅𝐜𝐬𝐜𝐡(𝝅)) 

∫
𝒙𝟐 + 𝐬𝐢𝐧⁡(𝝅𝒙)

𝟏 + 𝒆𝝅𝒙
𝒅𝒙 = ∫

𝒙𝟐

𝟏 + 𝒆𝝅𝒙
𝒅𝒙

∞

𝟎

+∫
𝐬𝐢𝐧⁡(𝝅𝒙)

𝟏 + 𝒆𝝅𝒙
𝒅𝒙 =

∞

𝒐

∞

𝟎

 

𝟑𝜻(𝟑)

𝟐𝝅𝟑
+
𝟏

𝟐𝝅
−
𝟏

𝟐
𝐜𝐬𝐜𝐡⁡(𝝅) 

𝑵𝒐𝒕𝒆 ∶ ⁡𝜻(𝟑) ⁡→ 𝑨𝒑𝒆𝒓𝒚′𝒔⁡𝒄𝒐𝒏𝒔𝒕𝒂𝒏𝒕 
 

Solution 2 by Ankush Kumar Parcha-India 

 

𝑾𝒆⁡𝒉𝒂𝒗𝒆,∫
𝒙𝟐

𝟏 + 𝐞𝐱𝐩⁡(𝝅𝒙)

∞

𝟎⏟          
Ω𝟏

𝒅𝒙 +∫
𝐬𝐢𝐧⁡(𝝅𝒙)

𝟏 + 𝐞𝐱𝐩⁡(𝝅𝒙)

∞

𝟎⏟          
Ω𝟐

𝒅𝒙⁡⁡ 

Ω𝟏 = ∫
𝒙𝟐

𝟏 + 𝐞𝐱𝐩⁡(𝝅𝒙)

∞

𝟎

𝒅𝒙 =⏞
𝝅𝒙→𝒙 𝟏

𝝅𝟑
∫

𝒙𝟐

𝟏 + 𝐞𝐱𝐩⁡(𝒙)
𝒅𝒙

∞

𝟎

=⏞
𝑵𝒐𝒕𝒆⁡𝒔𝒆𝒄𝒕𝒊𝒐𝒏 𝟏

𝝅𝟑
∑(−𝟏)𝒏𝓛𝒙{𝒙

𝟐}(𝒏)

𝒏⦓𝑵

 



 

=⏟
(𝟐)

⏞
𝑵𝒐𝒕𝒆⁡𝑺𝒆𝒄𝒕𝒊𝒐𝒏⁡ 𝟐

𝝅𝟑
∑

(−𝟏)𝒏−𝟏

𝒏𝟑
=>

𝟐

𝝅𝟑
𝜼(𝟑) =⏞

𝒏𝒐𝒕𝒆⁡𝜼(𝒔)=(𝟏−𝟐𝟏−𝒔).𝜻(𝒔)⁡⁡

⁡

𝒏⦓𝑵

∫
𝒙𝟐

𝟏 + 𝐞𝐱𝐩⁡(𝝅𝒙)
𝒅𝒙 =

𝟑𝜻(𝟑)

𝟐𝝅𝟑

∞

𝟎

 

Ω𝟐 = ∫
𝐬𝐢𝐧⁡(𝝅𝒙)

𝟏 + 𝐞𝐱𝐩⁡(𝝅𝒙)

∞

𝟎

𝒅𝒙 =⏞
𝝅𝒙→𝒙 𝟏

𝝅
∫

𝐬𝐢𝐧⁡(𝒙)

𝟏 + 𝐞𝐱𝐩⁡(𝒙)
𝒅𝒙 =>⏞

𝒏𝒐𝒕𝒆⁡𝒔𝒆𝒄𝒕𝒊𝒐𝒏⁡(𝟏)∞

𝟎

 

𝟏

𝝅
∑(−𝟏)𝒏−𝟏𝓛𝒙{𝐬𝐢𝐧⁡(𝒙)}(𝒏) =⏟

(𝟑)

⏞
𝑵𝒐𝒕𝒆⁡𝑺𝒆𝒄𝒕𝒊𝒐𝒏⁡ 𝟏

𝝅
∑

(−𝟏)𝒏−𝟏

𝒏𝟐 + 𝟏
=

∞

𝒏=𝟏𝒏⦓𝑵

𝟏

𝝅
𝕴∑

(−𝟏)𝒏−𝟏

𝒏 − 𝒊
=⏟
(𝟒)

⏞
𝑵𝒐𝒕𝒆⁡𝑺𝒆𝒄𝒕𝒊𝒐𝒏

𝒏⦓𝑵

 

𝟏

𝟐𝝅
𝕴 [𝝍(𝟎) (𝟏 −

𝒊

𝟐
) − 𝝍(𝟎)(

𝟏

𝟐
−
𝒊

𝟐
)] 

𝑵𝒐𝒕𝒆 ∶ (⁡⁡𝕴{𝝍(𝟎)(𝒛)} =
𝝍(𝟎)(𝒛) − 𝝍(𝟎)(𝒛)̅̅ ̅̅ ̅̅ ̅̅ ̅̅

𝟐𝒊
⁡; ⁡𝝍(𝟎)(𝒛)̅̅ ̅̅ ̅̅ ̅̅ ̅̅ = 𝝍(𝟎)(𝒛)̅̅ ̅̅ ⁡⁡⁡) 

=>
−𝒊

𝟒𝝅
[𝝍(𝟎) (𝟏 −

𝒊

𝟐
) − 𝝍(𝟎) (𝟏 +

𝒊

𝟐
)+𝝍(𝟎) (

𝟏

𝟐
+
𝒊

𝟐
) − 𝝍(𝟎) (

𝟏

𝟐
−
𝒊

𝟐
)]⁡⁡ =>⏞

𝑵𝒐𝒕𝒆⁡𝒔𝒆𝒄𝒕𝒊𝒐𝒏⁡(𝟓,𝟔,𝟕)

 

−𝒊

𝟒𝝅
[𝟐𝒊 + 𝝅𝐜𝐨𝐭 (

𝒊𝝅

𝟐
) + 𝝅 𝐭𝐚𝐧(

𝒊𝝅

𝟐
)] =>⁡

𝟏

𝟐𝝅
+
𝟏

𝟒
[𝐭𝐚𝐧𝐡(

𝝅

𝟐
) − 𝒄𝒐𝒕𝒉 (

𝝅

𝟐
)] → 

Ω𝟐 = ∫
𝐬𝐢𝐧⁡(𝝅𝒙)

𝟏 + 𝐞𝐱𝐩⁡(𝝅𝒙)

∞

𝟎

𝒅𝒙 =
𝟏

𝟐𝝅
−
𝐜𝐬𝐜𝐡⁡(𝝅)

𝟐
 

𝑷𝒖𝒕⁡𝒕𝒉𝒆⁡𝒗𝒂𝒍𝒖𝒆𝒔⁡𝒐𝒇⁡Ω𝟏⁡𝒂𝒏𝒅⁡Ω𝟐⁡𝒊𝒏⁡𝒆𝒒𝒖𝒂𝒕𝒊𝒐𝒏 − (𝟏).⁡⁡𝑾𝒆⁡𝒈𝒆𝒕,⁡ 

Ω𝟏 + Ω𝟐 = ∫
𝒙𝟐 + 𝐬𝐢𝐧⁡(𝝅𝒙)

𝟏 + 𝐞𝐱𝐩⁡(𝝅𝒙)
𝒅𝒙 =

𝟏

𝟐𝝅
−
𝐜𝐬𝐜𝐡⁡(𝝅)

𝟐

∞

𝟎

+
𝟑𝜻(𝟑)

𝟐𝝅𝟑
 

𝑵𝒐𝒕𝒆⁡⁡𝑺𝒆𝒄𝒕𝒊𝒐𝒏 ∶⁡ 

𝟏.𝑴𝒂𝒛⁡𝑺𝒖𝒎𝒎𝒂𝒕𝒊𝒐𝒏⁡𝑰𝒅𝒆𝒏𝒕𝒊𝒕𝒚 ∶ ⁡ ∑(−𝟏)𝒏−𝟏𝓛𝒕{𝐟⁡(𝒕)}(𝒏)

𝒏⦓𝑵

= ∫
𝒇(𝒕)

𝟏 + 𝒆𝒕

∞

𝟎

⁡ 

𝟐.𝓛𝒕{𝒕
𝒂}(𝒔) =

𝜞(𝒂 + 𝟏)

𝒔𝒂+𝟏
⁡ , 𝕽(𝒂) > −𝟏 

𝟑𝓛𝒕(𝐬𝐢𝐧(𝝎𝒕))(𝒔) =
𝝎

𝒔𝟐 +𝝎𝟐
⁡⁡𝒔 > |𝕴(𝝎)|⁡ 

𝟒. ∑
(−𝟏)𝒏−𝟏

𝒏 − 𝒂
=
𝟏

𝟐
𝒏⦓𝑵

[𝝍(𝟎) (𝟏 −
𝒂

𝟐
) − 𝝍(𝟎)(

𝟏

𝟐
−
𝒂

𝟐
)] 

𝟓.𝝍(𝟎) (
𝟏

𝟐
+ 𝒛) − 𝝍(𝟎) (

𝟏

𝟐
− 𝒛) = 𝝅𝐭𝐚𝐧⁡(𝝅𝒛) 

𝟔.𝝍(𝟎)(𝟏 + 𝒛) = 𝝍(𝟎)(𝒛) +
𝟏

𝒛
 

𝟕.𝝍(𝟎)(𝟏 − 𝒛) = 𝝍(𝟎)(𝒛) + 𝝅𝐜𝐨𝐭⁡(𝝅𝒛) 

 

Solution 3 by Cosghun Memmedov-Azerbaijan 

 

Ω = ∫
𝒙𝟐 + 𝐬𝐢𝐧⁡(𝝅𝒙)

𝟏 + 𝒆𝝅𝒙
𝒅𝒙 = ∫

𝒙𝟐

𝟏 + 𝒆𝝅𝒙
𝒅𝒙 +∫

𝐬𝐢𝐧⁡(𝝅𝒙)

𝟏 + 𝒆𝝅𝒙
𝒅𝒙 = 𝑴+𝑲

∞

𝟎

∞

𝟎

∞

𝟎

 

𝑴 = ∫
𝒙𝟐

𝟏 + 𝒆𝝅𝒙
𝒅𝒙 =⏞

{𝝅𝒙→𝒙}∞

𝟎

𝟏

𝝅𝟑
∫

𝒙𝟐

𝟏 + 𝒆𝒙
𝒅𝒙 =

𝟏

𝝅𝟑
∫

𝒙𝟐𝒆−𝒙

𝟏 + 𝒆−𝒙
𝒅𝒙 =

∞

𝟎

∞

𝟎

 

𝟏

𝝅𝟑
∑(−𝟏)𝒏∫ 𝒆−𝒙(𝒏+𝟏)𝒙𝟐𝒅𝒙

∞

𝟎

∞

𝒏=𝟎

=⏟

{
𝒅𝒙

𝒅𝒕
=

𝟏

𝒏+𝟏
}

⏞    
{𝒙(𝒏+𝟏)=𝒕} 𝟏

𝝅𝟑
∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟑
∫ 𝒆−𝒕𝒕𝟐𝒅𝒕 =
∞

𝟎

∞

𝒏=𝟎

 



 
𝟏

𝝅𝟑
𝜞(𝟑)∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟑
=

∞

𝒏=𝟎

𝟐

𝝅𝟑
𝜼(𝟑) =

𝟑

𝟐𝝅𝟑
𝜻(𝟑) 

𝑲 = ∫
𝐬𝐢𝐧⁡(𝝅𝒙)

𝟏 + 𝒆𝝅𝒙
𝒅𝒙 =⏞

{𝝅𝒙→𝒙}∞

𝟎

𝟏

𝝅
∫

𝐬𝐢𝐧⁡(𝒙)

𝟏 + 𝒆𝒙
𝒅𝒙 =

𝟏

𝝅
𝓘∫

𝒆𝒊𝒙

𝟏 + 𝒆𝒙
𝒅𝒙 =

∞

𝟎

∞

𝟎

 

𝟏

𝝅
𝓘∫

𝒆𝒙(𝒊−𝟏)

𝒆−𝒙 + 𝟏
𝒅𝒙 =

∞

𝟎

𝟏

𝝅
𝓘 {∑(−𝟏)𝒏∫ 𝒆−𝒙(𝒏+𝟏−𝒊)𝒅𝒙

∞

𝟎

∞

𝒏=𝟎

} =
𝟏

𝝅
𝓘 {∑

(−𝟏)𝒏

𝒏 + 𝟏 − 𝒊

∞

𝒏=𝟎

} = 

𝟏

𝝅
∑

(−𝟏)𝒏

(𝒏 + 𝟏)𝟐 + 𝟏
= −

𝟏

𝝅
∑

(−𝟏)𝒏

𝒏𝟐 + 𝟏
=
𝟏

𝝅

∞

𝒏=𝟏

∞

𝒏=𝟎

∑
𝟏

𝒏𝟐 + 𝟏

∞

𝒏=𝟏

−
𝟐

𝝅
∑

𝟏

𝟒𝒏𝟐 + 𝟏

∞

𝒏=𝟏

= 

𝟏

𝟐𝝅
(𝝅𝐜𝐨𝐭𝐡(𝝅) − 𝟏) −

𝟐

𝝅
(
𝝅

𝟒
𝐜𝐨𝐭𝐡 (

𝝅

𝟐
) −

𝟏

𝟐
) =

𝟏

𝟐
(𝐜𝐨𝐭𝐡(𝝅) − 𝐜𝐨𝐭𝐡 (

𝝅

𝟐
)) +

𝟏

𝟐𝝅
= 

𝟏

𝟐
(
𝒆𝝅 + 𝒆−𝝅

𝒆𝝅 − 𝒆−𝝅
−
𝒆
𝝅

𝟐 + 𝒆−
𝝅

𝟐

𝒆
𝝅

𝟐 − 𝒆−
𝝅

𝟐

) +
𝟏

𝟐𝝅
=
𝟏

𝟐
(
𝒆𝝅 + 𝒆−𝝅

𝒆𝝅 − 𝒆−𝝅
−
𝒆𝝅 + 𝒆−𝝅 + 𝟐

𝒆𝝅 − 𝒆−𝝅
) +

𝟏

𝟐𝝅
= 

−
𝟏

𝒆𝝅 − 𝒆−𝝅
+
𝟏

𝟐𝝅
= −

𝐜𝐬𝐜𝐡(𝝅)

𝟐
+
𝟏

𝟐𝝅
 

Ω = 𝑴+𝑲 =
𝟑

𝟐𝝅𝟑
𝜻(𝟑) −

𝐜𝐬𝐜𝐡(𝝅)

𝟐
+
𝟏

𝟐𝝅
=
𝝅𝟐 + 𝟑𝜻(𝟑) − 𝝅𝟑𝐜𝐬𝐜𝐡⁡(𝝅)

𝟐𝝅𝟑
 

 
 

 
 


